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() 1A x +5y + 2 [2%A] x2+x+3y+1
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[EER]] ax+bx=(a+b)x

[1] ROXZHEA L ZHEAUDT, TRENICO~ODFREEEZ LRIV,
@ 5x+ 2y @ 41 ©) x2—4x+9 @ —2y

Az HIEX) O (ZHX) @O
[2] ROZEROEEZEZ RS,
(1) x+ 3y (2) 2x+ xy (3) 2a—5b+ 1 (4) a? — 4ab+ 4b?
%z @ x, 3y @ 2x, xy (3 2a, —5b, 1 (@) o> —4ab, 4b°

[3] ROZHEXDEHIALEZ TS0,
2a’+ab+5b—3 e —3

[4] ROFIHRATT D,
(1) 3x— 2y (2) 5a> +a+4b+ 2 (3) 4a — 7ab (4) x2 — 6xy2+9

Kz @ 1ot @ 20t @) 250 @ 3%t

[5] kOXOFEPHEEE £ & O THEIZ LA ZVY,

(1) x+ 2y + 4x — 5y (2) 3x — 4y + 8x + 5y
=x+4x +2y —5y = 3x+ 8x — 4y + 5y
=1+4)x+@2-5y =B+8)x+(—4+5)y

:5x—3y :11X+y
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(3x + 6y) — (5x — 2y) 3 > T H&IETT
=3x+ 6y — 5x+ 2y

[IEDRRESR ]

(—4x + 2y) + (8x — 5y) .
Jpocugy

= —4x+ 2y + 8x — 5y
Jmainnas

= —4x + 8x + 2y — 5y
=4x — 3y

+ =3x—5x+6y+2y
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[1] koOKXOFHEEZ £ & O THEIC LA SV,

(1) x*+6x+2x*-3x
=x? +2x* +6x—3x
—(1+2)22 +(6-3)x
=3x%+3x

[2] ROFEHHEEZ LS,

(1) (2x+y)+(5x+6y)
=2x+y+5x+6y
=2x+5x+y+6y
=Tx+7y

(3) (2x+4y)+(10x—6y)
=-2x+4y+10x-6y
=—-2x+10x+4y—-6y
=8x—2y

[3] woitsiz Ly,

(1) (4x+7y)-(3x+y)
=4x+7y-3x—-y
=4x-3x+7y—-y
=x+6y

(3) (6a—2b)—(-3a+4b)
=6a—-2b+3a—-4b
=6a+3a-2b—-4b
=9a—-6b

(2) 2x+4xy—Tx—2xy
=2x—-Tx+4xy—2xy
2(2—7)x+(4—2)xy
=-5x+2xy

(2) (3a—4b)+(-2a+7b)
=3a—-4b—-2a+7b
=3a—-2a—-4b+7b
=a+3b

(4) (5x* +4x—-2)+(x* —3x+1)
=5x" +4x—2+x" —3x+1
=5x> +x> +4x—-3x-2+1

—6x*+x—1

(2) (2x+5y)—(4x-3y)
=2x+5y—4x+3y
=2x—-4x+5y+3y
=—2x+8y

(4) (¥*—2x-3)—(6x" —4x+1)

=x’—2x-3-6x+4x-1
=x"—6x"—2x+4x-3-1
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(1) 2(4a+3b)=2x4a+2x3b=8a+6b

IR & BDBRE
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(f31)) (2x+6y)+a:w E72, (2x+6y)+a:(2x+6y)x%

[1] kKOKXOFEFER £ & HTHEIZ LRSIV,

(1) 2x+5y+8x—3y
=-2x+8x+5y-3y
:(—2+8)x+(5—3)y
=6x+2y

[2] koFtFEZ L7e Sy,

(1) 3(x+2y)
=3xx+3x2y
=3x+6y

(3) 2(2x—y)+3(x+4y)
=4x-2y+3x+12y
=7x+10y

[3] koftHEZ Lesu,

(1) (3x+12y)=+3
=x+4y

(3) x+2y+2x—y
3 2
_2(x+2y)+3(2x—y)
- 6
_ 2x+4y+6x-3y
- 6

_8x+y
6

(2) 9x° +3xy—2x" —Txy
=9x” —2x” +3xy —Txy
=(9-2)x> +(3-T)xy
=7x" —4xy

(2) —2(5a—2b)
=(-2)x5a+(-2)x(-2b)
=—10a+4b

(4) 5(3x+2y)—2(5x+4y)
=15x+10y—-10x -8y
=5x+2y

(2) (30x+5y)+(—5)
_30x Sy
-5 =5
=—6x—y

(4) 361-2[)_61-2[)

4 2
_3a—2b—2(a—2b)
B 4
_3a-2b-2a+4b
- 4

_a+2b
4
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[1] ROZEAROEE REEEZ RSV,
(1) 2x+7y (2) 3xy—x+1 (3) 2a* +3ab+2b-5 (4) x> —6x"y+3y
Ex (1) H 2x,7y v SR (2) T 3xp, —x, | KB 2

(3) I 2a’,3ab,2b, -5 Wk 2 (4) T x°, —6x°y,3y w3

[2] ROFHHFHEEZ LSV,

(1) (x+5y)+(2x-7y) (2) (2a—b)—(6a—-5b)
=x+5y+2x-Ty =2a—-b—-6a+5b
=x+2x+5y-Ty =2a—-6a—b+5b
=3x-2y =—4a+4b

(3) 3(4x—3y) (4) —5(x—4y)
:3><4x+3><(—3y) =(—5)><x+(—5)><(—4y)
=12x-9y =-5x+20y

(5) 2(2a+3b)+3(a—4b) (6) 4(3x—2y)-7(2x—y)
=4a+6b+3a—-12b =12x-8y—-14x+7y
=4a+3a+6b—-12b =12x—-14x-8y+7y
=Ta—-6b =-2x—y

[3] RDEEHREZ LaSW,

(1) (16x—12y)+4 (2) (14x-21y)+(-7)
_léex 12y _14x 21y
4 4 )
=4x -3y =-2x+3y

(3) 3x_y+x+34y (4) 2a2+b_3a5—b
_3(3x—y)+x+4y _5(2a+b)-2(3a-b)

3 10
_9x-3y+x+4y _10a+5b—6a+2b
3 10
_9x+x-3y+4y _10a—6a+5b+2b
3 10
_10x+y _4a+77b
3 10
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[1] ROZEXDHEE R ZEZ RSV,

eI

(1) 5x—3y (2) 24> -3a+4b-2 (3) X’ +4x" —x+7 (4) X’ +2x°y° +3y°
Zx Q) H 5x,-3y REC 1 (2) I 2a°, —3a, 4b, -2 WH 2
() I x,4x, —x, 7 WH 3 @ x,2x°y7, 3y E 4

[2] kOHEZ LW,
(1) (2a—b)+(a+5b)
=2a-b+a+5b

=2a+a—-b+5b
=3a+4b

(3) 4(3a—2b)
:4x3a+4><(—2b)
=12a—-8b

(5) 6(x" —x+2)+3(x" +2x-2)
=6x> —6x+1243x* +6x—6

—6x> +3x* —6x+6x+12-6
=9x* +6

[3] ROFEEZ Lasuy,
(1) (48x—18y)+6
:48x 18y

6 6
=8x—-3y

(3) 2a+3b+a_2b

B 2a+3b+7(a—2b)
- 7

_ 2a+3b+7a-14b
- 7
~9a-11b

7

(2) (x—y)—(-7x+2y)
=x—y+Tx-2y
=x+7x—y-2y
=8x—3y

(4) -3(x-5y)
:(—3)><x+(—3)><(—5y)
=-3x+15y

(6) 2(2x2+3x—5)—3(x2+3x—2)
=4x* +6x-10-3x>*-9x+6
=4x* -3x*+6x—9x—10+6

=x"-3x-4

(2) (24a+56b)+(—8)
24a 56b
=4 —
-8 -8
=-3a-T7b

(4) S5x-Ty 2x-3y
8 2

B 5x—7y—4(2x—3y)
- 8
_Sx—=Ty—-8x+12y
- 8
_ —3x+5y
D
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